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Evolution Review
Evidence for Evolution:
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1. Which one of these is going to be the most accurate for telling you how closely two
ecies are related?
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2. What is important about the different strata in rock?
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3. Please define natural selection. _ . urvive ¢ Ve pro dwce,
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4. Who came up with the idea for natural selection? '
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5. Does evolution happen in individuals, populations or both? Defend your answer.
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A at is Hardy Weinberg’s principle? :
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9. What is the purpose of radioactive dating? \

fAnd ;cqc)ﬂc Ul oomore speanfic date o€ o foSsI|
10. What is a half life? '

The Pme it fakes for half of the supstance TU
11. If a fossil initially had 12 g of carbon-14 but now only has 3 g of carbon-14 how old a CCO\/
is the fossil? Assume that the half life of carbon-14 is 7,500 years.

2 Wa\f lives —=> 15,000 yrars

12. Draw a graph for each of the following showing what the population started with and
what it ended up with: directional selection, disruptive selection, stabilizing selection

Type of selection What does this kind of Give an example of what
organism does this could happen for each
selection favor? type (think of the second

bean lab!)

Disruptive jsloag’y

extyeyne s Sce Sir. | )

Directional | L W(D
ONE eXtveme see S\t 2 (

Stabilizing \ ‘ , 3
QN v ant // \ e S 3

o 7~

Below are two graphs. Use one of each of the following situations to graph what you
think would happen. Label each graph with the kind of selection that it is.

Situation A: Prevailing wind patterns change causing a strong upper wind to blow
constantly across the island. This wind blows long-winged flies out to sea where they
die.

number of flies
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Situation B: Wind patterns change as in part A. In addition a new animal arrives. It eats

only flies that are close to the ground (or have short wings and can’t fly higher).

mamber of flies
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13. Looking back at the primate lab, which species is closer to humans, the ape or the
Australopithecus? A (A Sty | Op \H1ne cus

14. Explain what it means that apes and humans have a common ancestor? Include in
your answer if humans did or did not evolve from apes. vl e
At one point tn fiime we W

Same species bur we branched o€
: n different \WaNS.
15. Explain why you need to take all of your antibiotic drugs even if you are starting to

feel better. SO 1 ot NOU kil o€ al ol the
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16. Discuss why you ended up with more red beans than lima beans at the end of the
bean lab. Use the term natural selection in your response. (First Bean Lab!)
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17. If we changed the laB so that instead of looking at the prey we looked atthe ~ A v/ YQ\\

predators, predict what would have happened. The different predators could have beena ¢ e |ecth O h
spoon, a fork, a knife, or a tweezers. Use the terms natural selection and adaptations and
survival of the fittest in your response.
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18. What does survival of the fittest mean? YVE€ WOU K See Vv ChooSe / Lowveor

TWOSE e St adapted will SUvIvE +NDse predotors
19. Which era of Earth’s history lasted the longest?

Pre coomilonouin

20. What were the main principles of natural selection? This is in your notes!!!
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